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MIIEEdS3 784,860 924,300 A 139,440
OB =sIHX FASXA
784,860,000 » 14 784,860
< 784,860
AP 2(ELMHEH )X 1,514,386 1,369,558 144,828
= 1,060,071
< 136,294
e 318,021
206 M= Hl 1,514,386 1,369,558 144,828
= 1,060,071
< 136,294
s 318,021
01 M2 4l 1,514,386 1,369,558 144,828
O ESZHZ(ELMHEH )X
153,775.99& » 9,848& 1,514,386
= 1,060,071
< 136,294
[ 318,021
AU B(RIA)N 1,785,033 2,406,480 £621,447
2 1,252,143
e 532,890
206 M 24 1,785,033 2,406,480 621,447
= 1,252,143
= 532,890




2N
X ZH -
L= B

el

SR
= AS o F
SEEY-PIETRE

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 =8l 1,785,033 2,406,480 AB21,447
OeZH=(KIE)XE
73,488.263 = 24,290.04& 1,785,033
= 1,252,143
e 532,890
B s NE 200,000 220,000 A 20,000
301 gEtE L= 200,000 220,000 220,000
1MIIEELSS 200,000 220,000 A 20,000
OXEEEZSM 2=SKE
200,000,000& * 14 200,000
et MAEX xd 900 900 0
202 4l 900 900 0
01 = LH Yl 900 900 0
Oz e MAI LAY =&
20,0003 = 191 = 45 900
S MNEXTSAAAXE 44,000 44,000 0
< 13,200
[ia 30,800
201 Let24d] 44,000 44,000 0
< 13,200
[ia 30,800
01 At 2teltl 44,000 44,000 0
Oz edsits I AL X
280,250 * 157A 44,000
< 13,200
s 30,800
=)= ZE2E N 33,333 33,333 0
< 10,000
s 23,333
307 21201 A 33,333 33,333 0
< 10,000
[ 23,333
06 283 33,333 33,333 0
ORJls SEHEE N&  79,935.258 * 4174l 33,333
= 10,000
s 23,333
M40l K& 1,334,880 1,334,880 0
< 148,320
s 1,186,560
301 gt d= 1,334,880 1,334,880 0
< 148,320
[ia 1,186,560
1MIIEBESS 1,334,880 1,334,880 0
OMMM=Eol X
120,000& * 12,360ha * 90/100 1,334,880




SN WBFsAD
BH: S0 AS O
el AEFSAIIL BB CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 148,320
= 1,186,560
XNEetAsY Je2=E ALY 1,350,000 960,000 390,000
Xl 900,000
= 450,000
402 QI2H X201 M 1,350,000 960,000 390,000
Xl 900,000
= 450,000
02 CIZEXIE A EX (0| XM THL) 1,350,000 0 1,350,000
OFSASAINWREAY
1,687,500,000% * 1JHA = 80/100 1,350,000
Xl 900,000
& 450,000
SIN=sS X KRHAS 194,416 147,500 46,916
= 37,072
== 37,567
= 119,777
301 LBt A= 194,416 147,500 46,916
= 37,072
= 37,567
= 119,777
11 JIEtE A2 194,416 147,500 46,916
SI=sYANM XA 194,416,000& = 1A 194,416
= 37,072
= 37,567
= 119,777
EUFIMEH A EH X 40,000 0 40,000
301 et A= 40,000 0 40,000
11 JIEtE A= 40,000 0 40,000
OELMSH &y X
10,000,000& * 40HSH™ 40,000
SHE MAL S22 3,405,807 6,366,579 N2,960,772
= 417,757
Xl 550,000
& 409,007
= 2,029,043
MIFSAE Jis 23 1,002,862 3,964,118 N2,961,256
= 379,357
Xl 50,000
& 58,699
= 514,806
f=ue| 29 4,741 547,500 A B42 759
= 4,741
202 o4 H| 4,741 7,500 N2,759
2 4,741
01 2 WY 4,741 7,500 N2,759




sHtE Mo KS2e
ARFSANE JIs 2t
= _ — d =
SA - BB B (BA) - MM - BHES e
Oox=zel =& 4,741,000 = 14 4,741
= 4,741
sHE AEH2MELD X K& 51,000 45,000
< 20,400
[ 30,600
402 RIZ2EX201 ™ 51,000 45,000
< 20,400
e 30,600
02 LA TEALEZ(0IETHR) 51,000 0
OsttE 28280 EXX&
6,000,000& * 17& * 50/100 51,000
< 20,400
[ia 30,600
MM 4XXA 900 900
202 o4dl 900 900
01 = LH o4 1l 900 900
O28M2MED &XXNE =M
20,000& = 321 » 15¢ 900
FIIJtSAS 2A&H K& 4,000 5,600
< 2,000
s 2,000
301 L2 L= 4,000 0
< 2,000
s 2,000
11IIEBEAS 4,000 0
RIS AE ASHE X
2,000,000& = 5JHA * 40/100 4,000
= 2,000
s 2,000
ZAAE Iy BYUHALSAEY 60,000 60,000
X 50,000
s 10,000
402 RI2FX=201 M 60,000 60,000
X 50,000
s 10,000
01 2I2EH 2 A B (KM ) 60,000 60,000
OBASAE HABSAL
100,000,000 * 1JH4 = 60/100 60,000
Xl 50,000
s 10,000
GAPCI S =0t o+ A HAHl K& 11,580 21,660
= 8,110
< 1,040
s 2,430
301 gt L= 11,580 0
= 8,110




2N
X ZH -
L= B

el

SR
SA42 MM REBE
ATREAA Jls B

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 1,040
s 2,430
MIIEEd= 11,580 0 11,580
OGAPRI S =0t ot MYl K&
11,580,000& * 14 11,580
= 8,110
< 1,040
e 2,430
AlZerEs FotHlg N& 6,000 6,000 0
201 Let24E] 6,000 0 6,000
01 At 2t 2l 6,000 0 6,000
OalZetgs| & 2AH X
2,000,000& = 104 = 33 6,000
sS&t=E ESE0 =SUHAA 184,800 184,800 0
= 92,400
< 18,480
s 73,920
307 glz2tol & 184,800 184,800 0
= 92,400
< 18,480
s 73,920
02 PIZHE M AHE L 184,800 184,800 0
Osdts ESEd XA
369,600,000 = 141 = 50/100 184,800
= 92,400
< 18,480
s 73,920
GAPRI S M E =8 K& 5,323 7,658 A2,335
< 1,597
s 3,726
301 et d = 5,323 0 5,323
< 1,597
s 3,726
NJIEEd=s 5,323 0 5,323
OGAPIES st ¥ =8 XY
5,323,000& = 14 5,323
= 1,597
s 3,726
S&SOHHE X ALY 27,000 27,000 0
= 13,500
< 2,700
s 10,800
402 2I2H X201 M 27,000 27,000 0
= 13,500
< 2,700
[ia 10,800
02 QI E2AS EZ (OIS ) 27,000 0 27,000




2A: AEH=sH
M spM2 MM RSB
e AXKREAE Jis 23 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OsNMZ0AHE XS AL
45,000,000 = 1JHA = 60/100 27,000
= 13,500
= 2,700
= 10,800
SN2 SED|E AldE=S 96,000 0 96,000
402 BI2H X 20| M 96,000 0 96,000
01 SIZEXIEANYEXZ (MMM E) 96,000 0 96,000
OsHE SED|Et A& = 96,000
OMSH&ED 6,000,000& * 30CH = 50/100 90,000
OsA2AHXI|  3,000,0008 = 40 = 50/100 6,000
AR GAP OtA A EAHl KIS AY 83,212 0 83,212
= 41,606
& 12,482
= 29,124
201 LBt Y| 83,212 0 83,212
= 41,606
& 12,482
= 29,124
01 AP 22| d| 83,212 0 83,212
OFA&X GAP XL 2AH| XIE
83,212,000 * 14! 83,212
= 41,606
& 12,482
= 29,124
HEUdZAEH 30,306 0 30,306
101 Q124 H| 306 0 306
04 JI2ZtHIZ22NEES 306 0 306
OBSYR ZA2 M3 A2Y
51,000 * 2% x 3¢ 306
301 Bt A= 30,000 0 30,000
11 JIEtE A2 30,000 0 30,000
O#r ZZTH XI¥ 6002 = 100,0000H * 50/100 30,000
AMEAHEIIZ2 ALY S ALY 438,000 0 438,000
= 219,000
= 219,000
402 SI2FXHE0| & 438,000 0 438,000
= 219,000
= 219,000
02 BIZtXIEANYE X (OIETHA) 438,000 0 438,000
OAMEAM BIIIBNMY B4
730,000,000& * 1A « 60/100 438,000
= 219,000
= 219,000




2N
X ZH -
L= B

el

3
SME M- K2
S 2HSIAMEY

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ST 2E3IAMY 1,293,507 1,284,760 8,747
< 327,188
s 966,319
AEAsdE Suga 1,090,627 1,254,260 A 163,633
< 327,188
s 763,439
307 gl2tol & 1,090,627 1,251,380 A 160,753
< 327,188
[ia 763,439
02 It M AHE L 1,090,627 1,251,380 A 160,753
Oz edsitE suga A=
1,817,711,000& * 14l = 60/100 1,090,627
< 327,188
s 763,439
stugal s AE K& 202,880 0 202,880
202 4l 2,880 0 2,880
01 = LH 4 Hi 2,880 0 2,880
Olgtdsdt=s stuas ANEXE =20
20,0003 = 201 = 72« 2,880
307 21201 A 200,000 0 200,000
02 ItFAAHE R 200,000 0 200,000
OHBASHES StNZA ATHR (2SAL)
200,000,000 14 200,000
sHte B2 SRS 1,109,438 1,117,701 A 8,263
= 38,400
Xl 500,000
< 23,120
s 547,918
Al @AM =8 gyl X 67,500 55,500 12,000
< 13,500
s 54,000
307 21201 A 67,500 55,500 12,000
< 13,500
i 54,000
02 YAFAAFEX 67,500 55,500 12,000
OXGH FMDMeD siyjyl X
1,500&  45,000% 67,500
< 13,500
s 54,000
SEMSHEES 58,600 76,700 A 18,100
201 L2l 9,600 16,700 AT,100
01 At 22l 9,600 6,700 2,900
OsSisE JAEE B2 AAEFEY
25,000& = 2004 5,000
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SN WBFsAD
M spM2 MM RSB
©F: SNE BERY HHDE (29l 8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 4,620
s 18,480
307 glz2tol & 23,100 30,000 A 6,900
< 4,620
s 18,480
02 It M AHE X 23,100 30,000 26,900
O ez SHEEEE ME4 M
3,000&  7,700% 23,100
< 4,620
e 18,480
FEEE EH5HAY 511,000 670,000 A 159,000
X 500,000
s 11,000
401 Al HIZ 201 I 511,000 500,000 11,000
X 500,000
s 11,000
01 A& HI 511,000 500,000 11,000
OZZZCEXNMHE &X 11,000,000& 14 11,000
OsttE SEIISNJAEH &
500,000,000& * 14! 500,000
Xl 500,000
YYSNSREYRE 55,400 0 55,400
= 38,400
< 5,000
e 12,000
201 Let2d] 39,503 0 39,503
= 27,380
< 3,564
e 8,559
01 At 22l 39,503 0 39,503
Ostit22.5.4s2&H TV, HEAN S EE
8,000,000& * 2& * 2)HA 32,000
= 22,180
< 2,885
[ia 6,935
Oetit82.5.4s2&EH EE22 MH
7,503,000& = 14 7,503
= 5,200
< 679
s 1,624
307 21201 A 15,897 0 15,897
= 11,020
< 1,436
[ia 3,441
02 QB AAHEX 15,897 0 15,897
Ostits82.5. 452 H AN
15,897,000& * 14 15,897
= 11,020

- 22 -




2N HEZSYD
MY =M2 MM SR
©F: SNE BERY HHDE (29l 8)
= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
< 1,436
s 3,441
&s Ad=E 29 10,500 0 10,500
201 £B-2d| 10,500 0 10,500
01 At 22l 10,500 0 10,500
OJIdts ads | 29|
9,000,000& = 14 9,000
OJIEs AZE MHEAE 0182
1,500,000& * 14 1,500
Fyy mIEEA 17,000 0 17,000
206 = Hl 17,000 0 17,000
01 =8l 17,000 0 17,000
OEitN Y 228 MENA
1,700& = 10,000% 17,000
SR& el SHHHel X 100,000 0 100,000
307 21201 A 100,000 0 100,000
02 IAtFAAHEX 100,000 0 100,000
O&XH&r el EHidl XI&
100,000,000& * 1A 100,000
=g ZdA A5t ,407,690 2,642,779 764,911
= 390,000
J| 407,676
< 432,296
e 77,718
HUSZYAANLEXR , 199,690 1,237,579 962, 111
= 390,000
J| 167,676
< 294,296
e , 347,718
AMERW HHX0E 83 100,000 130,478 A 30,478
= 40,000
< 6,000
i 54,000
402 RIZ2FX201 A 100,000 130,478 A 30,478
= 40,000
< 6,000
e 54,000
02 LA TEALEZ(0IETHR) 100,000 0 100,000
OANEZZUUHHXIONE SS3tALE
90,000,000 = 2.22222ha * 50/100 100,000
= 40,000
< 6,000
[ia 54,000
2UHEZAL DlE &= 200,000 390,000 A 190,000
402 RI2EX20l A 200,000 390,000 A 190,000
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SN WBFsAD
HE: s B L
Sl RIOISHA ALK (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 SI2ZEXIEANSEXR (M) 200,000 390,000 A 190,000
OHIYBIRAANAE XS AL
20,000,000 = 5ha = 50/100 50,000
OHIJIEHBISAAE X KA
200,000,000 = 1ha * 50/100 100,000
OHIYatA JHHIIIOIZ WAL
100,000,000 = 14! = 50/100 50,000
DU e THEHAIA 269,190 350,000 A 80,810
J| 107,676
= 16,151
= 145,363
402 BI2H X 20| M 269,190 350,000 N 80,810
Jl 107,676
= 16,151
= 145,363
02 QIZEXIE A EX (0| XM THL) 269,190 0 269, 190
OLFHIIIE s A AXAY
200,000,000 = 2.6919ha * 50/100 269,190
J| 107,676
& 16,151
= 145,363
ESHS(HA SAS)MAANE SUSHAY 50,000 15,000 35,000
J| 20,000
= 9,000
= 21,000
402 BI2H X 20| M 50,000 15,000 35,000
J| 20,000
= 9,000
= 21,000
02 QIZEXIEAISEX (0| THL) 50,000 0 50,000
OSEXMZS(HA , sXUS)MAMAILSEHSIAIS
25,000,000€ = 4014 = 50/100 50,000
J| 20,000
&< 9,000
= 21,000
EIXNS(CA)MAALE SEHBHAIY 100,000 0 100,000
J| 40,000
= 18,000
= 42,000
402 BI2H X 20| M 100,000 0 100,000
J| 40,000
= 18,000
= 42,000
02 QIZEXIEANSE X (0| XM THL) 100,000 0 100,000
OESES(QIA)MAALS ALY
40,000,000 = 54 * 50/100 100,000
J| 40,000
& 18,000
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FAN: HEIsS
HE: s B L
S FUSTHUMALXH (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| o 42,000
ANE20 Aol BZHAA 150,000 27,000 123,000
< 60,000
s 90,000
402 2I2H X201 M 150,000 27,000 123,000
< 60,000
s 90,000
02 QI E2AISEZ (OIS ) 150,000 0 150,000
OANEZH0AXEHE 2 M A
3,600,000% * 83.333ha * 50/100 150,000
S 60,000
s 90,000
HHESEHS dZ2=F 336,150 175,000 161,150
< 100,845
s 235,305
402 QI2H X201 M 336,150 175,000 161,150
< 100,845
[ia 235,305
02 QI 2 AL EZ(OI X TH ) 336,150 0 336, 150
ORHEERSUZt2EAY
672,300,000& = 141 « 50/100 336,150
= 100,845
s 235,305
F=EStE =74l NE 214,000 24,000 190,000
< 64,200
s 149,800
307 21201 A 214,000 24,000 190,000
< 64,200
s 149,800
02 IS AHE L 214,000 24,000 190,000
OxE=s4E SJ[HIXF  214,000,0008 * 14 214,000
< 64,200
e 149,800
202 ANLEHXA 180,000 0 180,000
402 RI2FX =201 M 180,000 0 180,000
01 2I2E 2 A B (KR ) 180,000 0 180,000
Odols FH X&
5,000,000& * 32CH * 50/100 80,000
O AHZTIoHAl & X & AL
20,000,000 = 8.3333ha * 60/100 100,000
2= S=sZIM SEXE 480,000 0 480,000
= 350,000
i 130,000
307 gl2tol & 480,000 0 480,000
= 350,000
[ia 130,000
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2N HEZSYD

HE: s B L
Sl RIOISHA ALK (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 It M AHE L 480,000 0 480,000
OLNSTSAYNSENAAL
533,333,333% * 14l » 90/100 480,000
= 350,000
e 130,000
ZHN=s A"€otRA X XE 70,350 0 70,350
< 20,100
s 50,250
402 2I2H X201 M 70,350 0 70,350
< 20,100
s 50,250
02 QI EALEZ (OIS ) 70,350 0 70,350
OZNsoRAX A
6,700,000& * 15 * 70/100 70,350
= 20,100
s 50,250
SEECMASIIOISOHRAKX R 50,000 0 50,000
402 2I2H X201 M 50,000 0 50,000
01 2I2F 2 A B (KM ) 50,000 0 50,000
OZRZEZCMASIIOIZSRAXA
7,000,000& * 14.28560H 2 * 50/100 50,000
$=FHHEND 840,000 830,000 10,000
J| 240,000
< 138,000
[ia 462,000
LM AD e E XA 80,000 150,000 270,000
402 RI2EXt20l M 80,000 150,000 A70,000
01 212t 2 AL E = (REM ) 80,000 150,000 A70,000
OR3 ANEotA &XXA
200,000,000& = 0.8ha * 50/100 80,000
DEEMAMAILSUHSAS 600,000 600,000 0
J| 240,000
< 108,000
s 252,000
402 RIZ2EXt20l ™ 600,000 600,000 0
J| 240,000
< 108,000
[ia 252,000
02 RIZt X2 AL EZ (01X TS ) 600,000 0 600,000
ONEZMAMALSEUHF ALY
1,200,000,000& * 1Al = 50/100 600,000
J| 240,000
< 108,000
[ia 252,000
DEE =M AT XA 80,000 80,000 0
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HE: s B L
Sl BFAFWAF D CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 et d = 80,000 0 80,000
NJIEEd=s 80,000 0 80,000
OJlsd i MASXZHAS
3,000,000& * 20ha * 50/100 30,000
Ollsd & MMULT LA
5,000,000& * 20ha * 50/100 50,000
=SS OIHE2E NS 80,000 0 80,000
< 30,000
s 50,000
307 gl2tol & 80,000 0 80,000
< 30,000
s 50,000
02 It M AHE L 80,000 0 80,000
Ou+=SE0ANES2S X ALY
100,000,000 = 1JH4 = 80/100 80,000
< 30,000
s 50,000
ASHSHI UM 368,000 575,200 A207,200
LB R =St A& 25,000 25,000 0
301 et a3z 25,000 0 25,000
MIIEE4d3 25,000 0 25,000
OLEth &=t sXNHMAA
500,000& * 71.426ha = 70/100 25,000
1SHIES MG 200,000 100,000 100,000
402 RIZ2FX201 ™ 200,000 100,000 100,000
01 RIZt Xt 2 AL E = (REATH &) 200,000 100,000 100,000
O1SBHI1SE3SAY
400,000,000& * 1Al * 50/100 200,000
ola HEBTHHIAIE RI& 50,000 50,000 0
402 RI2EX=20l A 50,000 50,000 0
01 U2 E2ALE X (KA R) 50,000 50,000 0
OQ&ZESATHEHAIE X & AL
10,000,000& * 10ha * 50/100 50,000
U= MAsIE BHIH X & 90,000 90,000 0
301 et d = 90,000 0 90,000
NIJIEEd=S 90,000 0 90,000
O2016E & 2 AU =M A=sIF EHHIHI X &
5,000& = 60,0008t A = 30/100 90,000
Deola AlIZgos 24 3,000 0 3,000
308 AHAIEHHSOIA 3,000 0 3,000
07 IXNHMARE = 3,000 0 3,000
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